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Math 108 Sections 1 and 4 Practice Test 1
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7. Write the domains of the following in interval notation
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8. Solve for x by completing the square: (&3) (Z b h?)) <2X* 3) S
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—H 9 rowk\ & M& w

R
fog= "C( TX \/_Lj > nﬁht be &\7&1\\\"{ EUetn Wit
T wx L0 .
‘ g°f= Cj (‘!K,_‘_\X jnl} \{____\.2_ ’_[
What is the domain of feog? (Hint: F1rst name the domain of ea nction.)
. "i‘f"\;b\

What is the domain of go f?
T b X7 @gs*r ><>*J

' o «Q,wcﬁ dova
For #24, WOLGMS(?(@\
Qas r\— \S Q@&QM

\_\Q d\d‘tv\j\
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11. Show by definition whether the functions are odd, even or neither.
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Even, Odd, or Neither Worksheet

Determine whether the following functions are even, odd, or neither by the
look of the graphs. Odd are symmetric over the origin, that is, (x,y) is
reflected to (-x, -y). Even are symmetric over the y-axis, that is (x,y) is
reflected to (-x,y). Ccm\ fons wust hawe a pewt at (0,0)
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1. f(x)=4x -3 2. f(x)= [x]+1 3. f(x)= -x2- 4
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' 3

\
C A4 e oold 2 e e

) \;&
7. f(x)= 3x2 8.f(x) =x3-2 _ 9. f(x)= 3x + 4
? »
Lo =30x)° CER= (022 £\ = 3% ey
=3%5  TTXT-2 T ()
=L (ewn) fOF = (¥ e — P&
L yHE
- 10.f(x)=x*-5 11. f(X)= 10X 12. f(x)-— 2(x+1)3
' _ 3
L= (2O =5 L (- x) —0S Ce)= 2(=xv)
= x5 - 2[%—}?\3
;*ifi\ T Pl
€y ) _ Q CYJ\}

AU g







